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Console.WriteLine(ts.Subtract(new
TimeSpan(0, 15, 0)));
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[ dt = dt.AddMonths(2); |
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Widening Conversions -1
Narrowing Conversions -2
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short x = 5;
power(X);
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int power(int number)
{
return number”2;
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Narrowing Conversions /2
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Cannot implicitly convert type 'int' to &l Uaall Al
'short".
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int x = int.Parse("'1");
bool v = bool._Parse("'True'™);
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Dim x As Integer

= Interger.Parse('1"™)
Dim v As Boolean =

Boolean.Parse(""True')
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m.ToString(); |

| string x =
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| DateTime dt = new DateTime(2004, 10, 17); |
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| Console.WriteLine(DateTime.Now); |
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new TimeSpan(4, 30, 0); |

| TimeSpan ts =
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